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Solved Examples

1. From a point P, 10cm away from the centre

of a circle, a tangent PT of length 8cm is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DGbL15AsRPwH

drawn. Find the radius of the circle.

° Watch Video Solution

2. A tangent PQ at a point P of a circle of
radius bem meets a line through the centre O
at a point ) so that OQ = 13cm. Find the

length of PQ).

A.12 cm

B.7 cm

C.10 cm


https://dl.doubtnut.com/l/_DGbL15AsRPwH
https://dl.doubtnut.com/l/_MaiztSWDeGsR

D.15 cm

Answer: A

o Watch Video Solution

3. In the given figure, AB is the diameter of a
circle with centre O and AT is a tangent. If

/AOQ = 58°,find LATQ.

o Watch Video Solution



https://dl.doubtnut.com/l/_MaiztSWDeGsR
https://dl.doubtnut.com/l/_AuuO1FI0sKOW

4. Tangents PA and PB are drawn from an
external point P to two concentric circles with
centre O and radii 8cm and bem respectively,
as shown in the figure. If AP = 15c¢m then

find the length of BP.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_YcFnot8RWANN

5. In Fig. 10.21, two circles touch each other at
the point C'. Prove that the common tangent
to the circles at C , bisects the common

tangent at P and (@) . (FIGURE)

o Watch Video Solution

6. Two concentric circles of radii a and
b(a > b) are given. Find the length of the
chord of the larger circle which touches the

smaller circle.


https://dl.doubtnut.com/l/_YcFnot8RWANN
https://dl.doubtnut.com/l/_yEqx6crHqUMT
https://dl.doubtnut.com/l/_stwCKtk5N0Zw

A. 2\/a2 + b
B. 2\/b2 — a?
C.2+/a’® — b?

D. none of these

Answer: C

o Watch Video Solution

7. Two concentric circles are of radii 7em and

rcm respectively, where » > 7. A chord of the


https://dl.doubtnut.com/l/_stwCKtk5N0Zw
https://dl.doubtnut.com/l/_PDOlS1JqlxaM

larger circle of length 46cm, touches the

smaller circle. Find the value of r.

° Watch Video Solution

8. The radii of two concentric circle are 13 cm
and 8 cm. AB is a diameter of the bigger circle
and BD is a tangent to the smaller circle
touching it at D and the bigger circle at E.

Point A is joined to D. Find the length of AD.

° Watch Video Solution



https://dl.doubtnut.com/l/_PDOlS1JqlxaM
https://dl.doubtnut.com/l/_AfcjBT2Tew4U
https://dl.doubtnut.com/l/_7Lv3OskD7e7R

9. From a point P outside a circle with centre
O, tangents PA and PB are drawn to the
circle. Prove that OP is the right bisector of

the line segment AB.

o Watch Video Solution

10. Prove that the tangents at the extremities
of any chord make equal angles with the

chord.

o Watch Video Solution



https://dl.doubtnut.com/l/_7Lv3OskD7e7R
https://dl.doubtnut.com/l/_2M0X7SkAXj4Y

11. Prove that tangent drawn at the mid point
of the are of a circle is pallelar to the chord

joing the ends of point of the are

o Watch Video Solution

12. In the adjoining figure, AB is a chord of
length 9.6 cm of a circle with centre O and

radius 6 cm. The tangents at A and B intersect


https://dl.doubtnut.com/l/_vgVkKMrCrN4e
https://dl.doubtnut.com/l/_2JOjORj14CeO

at P. Find the length of PA.

o Watch Video Solution

13. Two tangents PA and PB are drawn to a

circle with centre O from an external point P.


https://dl.doubtnut.com/l/_2JOjORj14CeO
https://dl.doubtnut.com/l/_gMrqSUj51RJI

Prove that /APB = 2/0AB

° Watch Video Solution

14. In the given figure, the incircle of AABC
touches the sides BC, CA and AB at P, Q)

and R respectively. Prove that

(AR + BP + CQ) = (AQ + BR + CP)


https://dl.doubtnut.com/l/_gMrqSUj51RJI
https://dl.doubtnut.com/l/_B7Rts61xQ8qI

1
=3 (perimeter of AABC).

A

o Watch Video Solution

15. In fig , a circle isinscribed in a triangle PQR

with PQ =10 cm , QR =8 cm and PR =12 cm


https://dl.doubtnut.com/l/_B7Rts61xQ8qI
https://dl.doubtnut.com/l/_JH9kYj15GTFS

Find the length of the QM , RN and PL.
P

o Watch Video Solution

16. A circle is inscribed in a AABC touching

AB, BC and AC at P, Q and R respectively. If AB =


https://dl.doubtnut.com/l/_JH9kYj15GTFS
https://dl.doubtnut.com/l/_f5cS7EYOMAyX

10 cm, AR =7 cm and CR =5 cm, then find the

length of BC.

° Watch Video Solution

17. A circle is touching the side BC of AABC
at P and touching AB and AC produced at ()

and R respectively. Prove that


https://dl.doubtnut.com/l/_f5cS7EYOMAyX
https://dl.doubtnut.com/l/_15CUcjyjJrRD

1
AQ = E(perimeter of AABC).

° Watch Video Solution



https://dl.doubtnut.com/l/_15CUcjyjJrRD

18. PA and PB are tangents to the circle with
centre O from an external point P, touching
the circle at A and B respectively. Show that

the quadrilateral AOBP is cyclic.

o Watch Video Solution

19. In the given figure tangents PQ and PR are
drawn from an external point P to a circle with

centre O, such that ZRPO = 30°. A chord RS

is drawn parallel to the tangent PQ. Find


https://dl.doubtnut.com/l/_lhqD7IepmJuZ
https://dl.doubtnut.com/l/_OdR8WJcdcVtU

Q

o Watch Video Solution

20. In the given figure the sides AB, BE and CA
of triangle ABC touch a circle with centre O

and radius r at P,Q and R respectively.

Prove that: (i)AB + CQ = AC + BQ


https://dl.doubtnut.com/l/_OdR8WJcdcVtU
https://dl.doubtnut.com/l/_3X8FTbTkM8Lh

(i) Area

1
( A ABC) = —(Perimeter of A ABC) x r

2
>

Watch Video Solution

21. In the given figure, ABC' is a right-angled
triangle with AB = 6ecm and AC = 8cm. A
circle with centre O has been inscribed inside

the triangle. Calculate the value of r, the radius


https://dl.doubtnut.com/l/_3X8FTbTkM8Lh
https://dl.doubtnut.com/l/_iDHVMgwdjkuF

of the inscribed circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_iDHVMgwdjkuF
https://dl.doubtnut.com/l/_hbVtVC0e309C

22. A triangle ABC' is drawn to circumscribe a
circle of radius 4cm such that the segments BD
and D(C'into which BC'is divided by the point of
contact D are of lengths 6cm and 8cm

respectively. Find the lengths of the sides AB

and AC.

~— 6 cm —~}=——8 cm———»|

| 8 l


https://dl.doubtnut.com/l/_hbVtVC0e309C

L % Watch Video Solution J

23. In the given figure, a triangle ABC' is drawn
to circuscribe a circle of radius 3cm, such that
the segments BD and DC' into which BC is
divided by the point of contact D are of lengths

6m and 8cm respectively. Find the side AB, if


https://dl.doubtnut.com/l/_hbVtVC0e309C
https://dl.doubtnut.com/l/_4xhGx9xRAFTJ

the area of AABC is 63cm?>.

O
I
n
!

B S D C
le— B cm —si= 8ocm—

° Watch Video Solution

24. In the given figure, XP and X(@ are two
tangents to the circle with centre O, drawn from

an external point X. ARB is another tangent,


https://dl.doubtnut.com/l/_4xhGx9xRAFTJ
https://dl.doubtnut.com/l/_WClmTUpbLETN

touching the «circle at R. Prove that

XA+ AR = XB + BR.

0 Watch Video Solution

25. If from an external point P of a circle with

centre O, two tangents PQ and PR are drawn


https://dl.doubtnut.com/l/_WClmTUpbLETN
https://dl.doubtnut.com/l/_gZVMDj9lSW6C

such ZQPR = 120°, prove that 2PQ=PO.

o Watch Video Solution

26. A quadrilateral ABCD is drawn to
circumscribe a circle, as shown in the figure.

Prove that AB + CD = AD + BC.

D R C



https://dl.doubtnut.com/l/_gZVMDj9lSW6C
https://dl.doubtnut.com/l/_5VVbghJ4Lrca

\ ° Watch Video Solution

27. In the given figure, ABCD is a quadrilateral
such that ZD = 90°. A circle with centre O and
radius r, touches the sides AB, BC, CD and
DA at P, @, R and S respectively. If

BC = 40em, CD = 25¢m and BP = 28cm,


https://dl.doubtnut.com/l/_5VVbghJ4Lrca
https://dl.doubtnut.com/l/_j5RqPPhtR42B

find r.

° Watch Video Solution

28. g HIfSU b fosedt g & givord FHIAR gyt
THAqYST BT ¢ |


https://dl.doubtnut.com/l/_j5RqPPhtR42B
https://dl.doubtnut.com/l/_lqHMKyKu1PmL

° Watch Video Solution

29. Prove that opposite sides of a quadrilateral
circumscribing a circle subtend supplementary

angles at the centre of the circle.

° Watch Video Solution

30. In the given figure, PA is a tangent from an

external point P to a circle with centre O. If


https://dl.doubtnut.com/l/_lqHMKyKu1PmL
https://dl.doubtnut.com/l/_VdEZVAdkEbsA
https://dl.doubtnut.com/l/_AgE4TzetDBWY

/POB = 115°,find ZAPO.

° Watch Video Solution

31. From a point P, two tangents PA and PB

are drawn to a circle C(O, r). If OP = 2r, show


https://dl.doubtnut.com/l/_AgE4TzetDBWY
https://dl.doubtnut.com/l/_8Ue2dJU5sIlK

that AAPB is equilateral.

° Watch Video Solution

32. XYand XY "are two parallel tangents to a

circle with centre O and another tangent AB with


https://dl.doubtnut.com/l/_8Ue2dJU5sIlK
https://dl.doubtnut.com/l/_63EDjzAHmX9g

point of contact C intersecting XYat A and

X'Y ’at B. Prove that ZAOB = 90°

° Watch Video Solution

33. The incircle of an isosceles triangle ABC,
with AB = AC, touches the sides AB, BC, CA
at D, E and F respectively. Prove that E bisects

BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_63EDjzAHmX9g
https://dl.doubtnut.com/l/_ukvunSAkAvWv

1. A point P is at a distance of 29c¢m from the
centre of a circle of radius 20cm. Find the length

of the tangent drawn from P to the circle.

° Watch Video Solution

2. A point P is 25c¢m away from the centre of a
circle and the lens of tangent drawn from P to

the circle is 24em. Find the radius.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_7wm3yUAw0SZU
https://dl.doubtnut.com/l/_e3z2oVku9kv7

3. Two concentric circles are of radii 6.5¢m and
2.5cm. Find the length of the chord of the larger
circle which touches the smaller circle.

A. 9cm

B. 10ecm

C.1llem

D. 12cm

Answer: D



https://dl.doubtnut.com/l/_e3z2oVku9kv7
https://dl.doubtnut.com/l/_dlOtT8yqXUaP

| ' Watch Video Solution |

4. In the given figure, a circle inscribed in a
triangle ABC, touches the sides AB, BC and
AC at points D, E and F respectively. If
AB = 12e¢m, BC = 8cm and AC = 10cm, find

the lengths of AD, BE and CF..



https://dl.doubtnut.com/l/_dlOtT8yqXUaP
https://dl.doubtnut.com/l/_fBauW4CPZwOi

I 0 Watch Video Solution I

5. In the given figure, PA and PB are the
tangent segments to a circle with centre O.
Show that the points A, O, B and P are

concyclic.

° Watch Video Solution



https://dl.doubtnut.com/l/_fBauW4CPZwOi
https://dl.doubtnut.com/l/_zwGGpePjocz3

6. In the given figure, the chord AB of the larger
of the two concentric circles, with centre O,

touches the smaller circle at C. Prove that

AC = CB.

° Watch Video Solution



https://dl.doubtnut.com/l/_awU1vHOk1iPV

7. From an external point P, tangents PA and
PB are drawn to a circle with centre O. If C'D is
the tangent to the circle at a point E and

PA = 14cm, find the perimeter of APCD.

o Watch Video Solution



https://dl.doubtnut.com/l/_awU1vHOk1iPV
https://dl.doubtnut.com/l/_I32csXqtXuZv
https://dl.doubtnut.com/l/_ibmTlmaBOzm8

8. A circle is inscribed in a AABC, touching AB,
BC and AC at P, Q and R respectively. If
AB = 10ecm, AR = 7Tem and CR = 5¢m, find

the length of BC.
A

° Watch Video Solution



https://dl.doubtnut.com/l/_ibmTlmaBOzm8

9.In the given figure, a circle touches all the four
sides of a quadrilateral ABC'D whose three
sides are AB =6cm, BC =T7cm and

CD = 4em. Find AD.

D C

A B

° Watch Video Solution



https://dl.doubtnut.com/l/_jVhDSOo0IAHu

10. In the given figure, an isosceles triangle ABC
, with AB = AC, circumscribes a circle. Prove
that the point of contact P bisects the base BC.

A

0 Watch Video Solution



https://dl.doubtnut.com/l/_iKTErjflWmZS
https://dl.doubtnut.com/l/_eBNklsVNFiwZ

1. In the given figure, O is the centre of two
concentric circles of radii 4em and 6em
respectively. PA and PB are tangents to the
outer and inner circle respectively. If
PA = 10cm , find the length of PB up to one
place of decinal.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_eBNklsVNFiwZ
https://dl.doubtnut.com/l/_9WJzwHjhPKFy

12. In the given figure, a triangle ABC' is drawn
to circuscribe a circle of radius 3em, such that
the segments BD and DC' into which BC is
divided by the point of contact D are of lengths
6cm and 9cm respectively. If the area of

AABC = 54cm? then find the lengths of sides


https://dl.doubtnut.com/l/_9WJzwHjhPKFy

AB and AC.

Q
EI
G

™

B D C
|-—— 6 cm —>=— 9 cm——

° Watch Video Solution

13. PQ is a chord of length 4.8cm of a circle of
radius 3cm. The tangents at P and (@) intersect

at a point T' as shown in the figure. Find the


https://dl.doubtnut.com/l/_9WJzwHjhPKFy
https://dl.doubtnut.com/l/_Rjcf1KsfFBgA

length of T'P.

o Watch Video Solution

14. Prove that the line segment joining the
points of contact of two parallel tangents of a

circle, passes through its centre.

| N |


https://dl.doubtnut.com/l/_Rjcf1KsfFBgA
https://dl.doubtnut.com/l/_YrEzW6b5lpky

| ¥ Watch Video Solution |

15. In the given figure, a circle with centre O, is
inscribed in a quadrilateral ABC'D such that it
touches the side BC, AB, AD and CD at points
P, Q, R and S respectively. If AB = 29cm,

AD = 23em, /B = 90° and DS = 5¢m then


https://dl.doubtnut.com/l/_YrEzW6b5lpky
https://dl.doubtnut.com/l/_OEPGUsjC98tR

find the radius of the circle.

° Watch Video Solution

16. In the given figure, O is the centre of the

circle and T'P is the tangent to the circle from


https://dl.doubtnut.com/l/_OEPGUsjC98tR
https://dl.doubtnut.com/l/_ldC19AZ1QsV3

an external point T. If /PBT = 30°, prove that

BA: AT = 2:1.
P
30°, T
B 0 A

° Watch Video Solution



https://dl.doubtnut.com/l/_ldC19AZ1QsV3

1. In the adjoining figure, a circle touches all the
four sides of a quadrilateral ABC'D whose sides
are AB = 6em, BC = 9¢em and CD = 8cm.

Find the length of side AD.

DK(jc
A B

° Watch Video Solution



https://dl.doubtnut.com/l/_hvI16TAwZaCS
https://dl.doubtnut.com/l/_cZJOjEh9csXr

2. In the given figure, PA and PB are two
tangents to the circle with centre O. If
/APB = 50° then what is the measure of

/OAB.

° Watch Video Solution



https://dl.doubtnut.com/l/_cZJOjEh9csXr

3. In figure, O is the centre of a circle. PT and PQ

are tangents to the circle from an external point

P.If ZTPQ = 70°,find ZTRQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_I2QOfG0MBsCm

4. In the given figure, common tangetns AB and
CD to the two circles with centres O; and O,

intersect at E. Prove that AB = CD.

° Watch Video Solution

5.1f PT is a tangent to a circle with centre O

and P is a chord of the circle such that


https://dl.doubtnut.com/l/_G8q7eMTG1oVl
https://dl.doubtnut.com/l/_SQpYDSL3VeD1

ZQPT = 70°, then find the measure of ZPOQ.

o Watch Video Solution

6. In the given figure, a triangle ABC' is drawn to

circumscribe a circle of radius 2em such that the


https://dl.doubtnut.com/l/_SQpYDSL3VeD1
https://dl.doubtnut.com/l/_iSqD1v7wjBPw

segments BD and DC into which BC is divided
by the point of contact D, are of lengths 4cm

and 3cm respectively. If the area of

AABC = 21em? then find the lengths of sides

AB and AC.
A
O
3} D C

o Watch Video Solution



https://dl.doubtnut.com/l/_iSqD1v7wjBPw

7. Two concentric circles are of radii 5em and
3cm respectively. Find the length of the chord of

the larger circle which touches the smaller circle.

° Watch Video Solution

8. Prove that the perpendicular at the point of
contact to the tangent to a circle passes

through the centre of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_iSqD1v7wjBPw
https://dl.doubtnut.com/l/_Fd2bcKFNsFBB
https://dl.doubtnut.com/l/_88AZjNKTOwd8

9. In the given figure, two tangents R() and RP
are drwn from an external point R to the circle
with centre O. If ZPRQ = 120°, then prove

that OR=PR+RQ".



https://dl.doubtnut.com/l/_H5ZmqxZJxSl7

\ 0 Watch Video Solution

10. In the given figure, a circle inscribed in a
triangle ABC, touches the sides AB, BC and
CA at points D, E and F' respectively. If

AB = 14c¢m, BC = 8¢m and CA = 12¢m, find


https://dl.doubtnut.com/l/_H5ZmqxZJxSl7
https://dl.doubtnut.com/l/_daiurgmNsrcV

the lengths of AD, BE and CF..

° Watch Video Solution



https://dl.doubtnut.com/l/_daiurgmNsrcV

1. In the given figure, O is the centre of the
circle. PA and PB are tangents. Show that

AOBP is a cyclic quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_pTstW7MI3SNz

12. In two concentric circles, a chord of length
8cm of the larger circle touches the smaller
circle. If the radius of the larger circle is 5cm

then find the radius of the smaller circle.

o Watch Video Solution

13. In the given figure, PQ is a chord of a circle

with centre O and PT is a tangent. If


https://dl.doubtnut.com/l/_UTxd4vO6llLd
https://dl.doubtnut.com/l/_EGUpHbfhAh8x

/QPT = 60°, find /PRQ.

————

/e
O 7~
R
Il 60° I

P T

-~ N\

° Watch Video Solution

14. In the given figure, PA and PB are two

tangetns to the circle with centre O. If


https://dl.doubtnut.com/l/_EGUpHbfhAh8x
https://dl.doubtnut.com/l/_aNeodEg6C48B

/APB = 60° then find the measure of ZOAB.

A

o Watch Video Solution

15. If the angle between two tangents drawn
from an external point P to a circle of radius 'a'

and centre O, is 60°, then find the length of OP.



https://dl.doubtnut.com/l/_aNeodEg6C48B
https://dl.doubtnut.com/l/_9gMCtHdHi6Qj

o Watch Video Solution

Multiple Choice Questions Mcq

1. Theorem 10.2 : The lengths of tangents drawn

from an external point to a circle are equal.

A. equal

B. unequal

C. may be equal may be unequal

D. None of these


https://dl.doubtnut.com/l/_9gMCtHdHi6Qj
https://dl.doubtnut.com/l/_jfaouPzz2QUj

Answer:

° Watch Video Solution

2. Which of the following pairs of lines in a circle

cannot be parallel?

A. Two chords

B. A chord and a tangent

C. Two tangents

D. Two diameters


https://dl.doubtnut.com/l/_jfaouPzz2QUj
https://dl.doubtnut.com/l/_mKRfdfduQahR

Answer:

° Watch Video Solution

3. The chord of a circle of radius 10cm subtends
a right angle at its centre. The length of the

chord (in cm) is


https://dl.doubtnut.com/l/_mKRfdfduQahR
https://dl.doubtnut.com/l/_CWnmGpoqesFd

Answer: C

° Watch Video Solution

4. PQ) is a tangent to a circle with centre O at

the point P. If AOPQ is an isoceless triangle,

then ZOQP is equal to

A.30°

B.45°

C.60°

D.90°


https://dl.doubtnut.com/l/_CWnmGpoqesFd
https://dl.doubtnut.com/l/_EWs7KL0ZR6VK

Answer:

° Watch Video Solution

5. If a chord AB subtends and angle of 60° at

the centre of a circle, then the angle between

the tangents to the circle drawn from A and B is

A.30°

B.60°

C.90°

D.120°


https://dl.doubtnut.com/l/_EWs7KL0ZR6VK
https://dl.doubtnut.com/l/_ZEhFZXfEXhLK

Answer: D

° Watch Video Solution

6. If two tangents inclined at an angle of 60° are
drawn to a circle of radius 3cm then the length

of each tangent is

A. 3cm

3v/3

cm

C.3/3cm

D. 6cm


https://dl.doubtnut.com/l/_ZEhFZXfEXhLK
https://dl.doubtnut.com/l/_ZMRqbuP5OJjs

Answer: C

° Watch Video Solution

7. The length of the tangent from an external
point P to a circle of radius 5¢m is 10cm. The
distacne of the point from the centre of the

circle is

A. 8cm

B. v/104cm

C.12ecm


https://dl.doubtnut.com/l/_ZMRqbuP5OJjs
https://dl.doubtnut.com/l/_6KBTEwpOCUPG

D. /125cm

Answer:

0 Watch Video Solution

8. To draw a pair of tangents to a circle, which
are inclined to each other at an angle of 45°, we
have to draw tangents at the end points of

those two radii, the angle between which is

A.105°


https://dl.doubtnut.com/l/_6KBTEwpOCUPG
https://dl.doubtnut.com/l/_c51JDOt8MPNx

B.135°

C.140°

D. 145°

Answer: B

° Watch Video Solution

9. In a right triangle ABC , right angled at
B, BC = 12¢cm and AB = 5cm. The radius of

the circle inscribed in the triangle (in cm) is


https://dl.doubtnut.com/l/_c51JDOt8MPNx
https://dl.doubtnut.com/l/_31QucOA2IuBo

A. lem

B. 2cm

C.3cm

D.4ecm

Answer:

0 Watch Video Solution

10. Quadrilateral ABCD is circumscribed to a
circle. If AB =6cm, BC =T7em and

CD = 4cm then the length of AD is


https://dl.doubtnut.com/l/_31QucOA2IuBo
https://dl.doubtnut.com/l/_oyjMg6wZp1xC

A. 3cm

B.4cm

C. bcm

D. 7Tecm

Answer: A

° Watch Video Solution

11. Which of the following statements is not true

?


https://dl.doubtnut.com/l/_oyjMg6wZp1xC
https://dl.doubtnut.com/l/_a02SumvQmftH

A.If a point P lies inside a circle, no tangent

can be drawn to the circle, passing

through P.

B. If a point P lies on the circle, then one and

only one tangent can be drawn to the

circle at P.

C.If a point P lies outside the circle, then

only two tangents can be drawn to the

circle from P.


https://dl.doubtnut.com/l/_a02SumvQmftH

D. A circle can have more than two parallel

tangents, parallel to a given line.

Answer: D

° Watch Video Solution

12. Which of the following statements is not true

?

A. A tangent to a circle intersects the circle

exactly at one point.


https://dl.doubtnut.com/l/_a02SumvQmftH
https://dl.doubtnut.com/l/_LXJYOfx5WbbZ

B. The point common to the circle and its

tangent is called the point of contact.

C.The tangent at any point of a circle is

perpendicular to the radius of the circle

through the point of contact.

D. A straight line can meet a circle at one

point only.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LXJYOfx5WbbZ
https://dl.doubtnut.com/l/_qIS4wkpii3Dm

13. Which of the following statements is not true

?

A. A line which intersects a circle in two

points, is called a secant of the circle.

B.A line intersecting a circle at one point

only, is called a tangent to the circle.

C. The point at which a line touches the circle,

is called the point of contact.

D. A tangent to the circle can be drawn from

a point inside the circle.


https://dl.doubtnut.com/l/_qIS4wkpii3Dm

Answer: D

° Watch Video Solution

14. Assertion(A) At a point P of a circle with
centre O and radius 12cm, a tangent PQ) of
length 16cm is drawn. Then, OQ = 20cm.

Reason (R ) The tangent at any point of a circle is
perpendicular to the radius through the point of

contact.


https://dl.doubtnut.com/l/_qIS4wkpii3Dm
https://dl.doubtnut.com/l/_2jvEZXHsXyS4

A. Both Assertion (A) and Reason (R ) are true

and Reason (R ) is a correct explanation of

Asseration (A).

B. Both Assertion (A) and Reason (R ) are true

but Reason (R ) is not a correct explanation

of Asseration (A).

C. Assertion(A) is true and Reason (R) is false.

D. Assertion(A) is false and Reason (R) is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2jvEZXHsXyS4

15. Assertion(A) If two tangents are drawn to a
circle from an external point then they subtend
equal angles at the centre.

Reason (R ) A parallelogram circumscribing a

circle is a rhombus

A. Both Assertion (A) and Reason (R ) are true

and Reason (R ) is a correct explanation of

Asseration (A).


https://dl.doubtnut.com/l/_2jvEZXHsXyS4
https://dl.doubtnut.com/l/_TYwV0kpbjQUq

B. Both Assertion (A) and Reason (R ) are true

but Reason (R ) is not a correct explanation

of Asseration (A).

C. Assertion(A) is true and Reason (R) is false.

D. Assertion(A) is false and Reason (R) is true.

Answer:

° Watch Video Solution

Multiple Choice Questions Mcq



https://dl.doubtnut.com/l/_TYwV0kpbjQUq
https://dl.doubtnut.com/l/_pXVwRE8FAHcY

1. In the given figure, RQ is a tangent to the
circle with centre O. If SQ = 6cm and

QR = 4cm,then OR is equal to

Q R

A. 2.5ecm

B.3cm


https://dl.doubtnut.com/l/_pXVwRE8FAHcY

C.b5em

D. 8&m

Answer:

° Watch Video Solution

2. In a circle of radius 7 cm, tangent PT is drawn
from a point P such tht PT= 24 cm. If O is the

centre of circle, then find the length of OP.

A. 30cm


https://dl.doubtnut.com/l/_pXVwRE8FAHcY
https://dl.doubtnut.com/l/_uOVZbfvRmPGG

B. 28cm

C. 25¢cm

D. 18cm

Answer:

° Watch Video Solution

3.In the given figure, PT is a tangent to the circle

with centre O. If OT=6cm and OP=10cm, thcn find


https://dl.doubtnut.com/l/_uOVZbfvRmPGG
https://dl.doubtnut.com/l/_UWLjjmYoQ4KP

the length of tangent PT.

A. 8cm

B. 10cm

C.12cm

D. 16cm

Answer:



https://dl.doubtnut.com/l/_UWLjjmYoQ4KP

° Watch Video Solution

4.1n the given figure, point P is 26cm away from
the centre O of a circle and the length PT of the
tangent drawn from P to the circle is 24cm.

Then, the radius of the circle is



https://dl.doubtnut.com/l/_UWLjjmYoQ4KP
https://dl.doubtnut.com/l/_NNUGT7vPUuy0

A. 10cm

B.12cm

C.13cm

D. 15cm

Answer:

0 Watch Video Solution

5. In the given figure, AB and AC are tangents

to the circle with centre O such that


https://dl.doubtnut.com/l/_NNUGT7vPUuy0
https://dl.doubtnut.com/l/_2dlkyrhyPiv3

/BAC = 40°.Then, ZBOC is equal to

A.80°

B.100°

C.120°

D. 140°

Answer:


https://dl.doubtnut.com/l/_2dlkyrhyPiv3

o Watch Video Solution

6. In the given figure, O is the centre of two
concentric circles of radii 6em and 10ecm. AB is
chord of outer circle which touches the inner

circle. The length of chord ABis



https://dl.doubtnut.com/l/_2dlkyrhyPiv3
https://dl.doubtnut.com/l/_D1cxyX2QPzcl

A. 8cm
B. 14ecm
C.1l6ecm

D. 1/136cm

Answer:

0 Watch Video Solution

7. In the given figure, AB and AC are tangents

to a circle with centre O and radius 8cm. If


https://dl.doubtnut.com/l/_D1cxyX2QPzcl
https://dl.doubtnut.com/l/_25u315kM2lXm

OA = 17cm, then the length of AC (in cm) is

A.9

B. 15

C. /353

D. 25


https://dl.doubtnut.com/l/_25u315kM2lXm

Answer:

° Watch Video Solution

8. In the given figure, O, is the centre of a circle,
AOC is its diameter such that ZACB = 50°. If

AT is the tangent to the circle at the point A


https://dl.doubtnut.com/l/_25u315kM2lXm
https://dl.doubtnut.com/l/_gH3WzfKEgjAR

then /BAT = ?

A.40°

B.50°

C.60°

D.65°


https://dl.doubtnut.com/l/_gH3WzfKEgjAR

Answer:

° Watch Video Solution

9. In the given figure, O is the centre of a circle,
PQ is a chord and PT is the tangent at P. If

/POQ = 70°,then ZT PQ is equal to



https://dl.doubtnut.com/l/_gH3WzfKEgjAR
https://dl.doubtnut.com/l/_aTv4PCJvkw5U

A.35°

B.45°

C.55°

D.70°

Answer:

0 Watch Video Solution

10. In the given figure, AT is a tangent to the

circle with centre O such that OT = 4em and


https://dl.doubtnut.com/l/_aTv4PCJvkw5U
https://dl.doubtnut.com/l/_BgguKPAiiHIF

/0OTA = 30°.Then AT = ?

O
N
30° ™~
A
A dem
B.2cm
C.24/3cm

D.4./3cm


https://dl.doubtnut.com/l/_BgguKPAiiHIF

Answer:

° Watch Video Solution

M. If PA and PB are two tangents to a circle
with centre O such that ZAOB = 110° then

/APB is equal to



https://dl.doubtnut.com/l/_BgguKPAiiHIF
https://dl.doubtnut.com/l/_c09TxZw4rHlx

A.55°

B.60°

C.70°

D.90°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_c09TxZw4rHlx

12. In the given figure, the length of BC'is

B. 10cm

C.1l4em

D. 15em


https://dl.doubtnut.com/l/_3hDwgMHHHwPR

Answer:

° Watch Video Solution

13. In the given figure, if, ZAOD = 135° then

/BOC is equal to

A D

135°

B~—__-C

A. 25°


https://dl.doubtnut.com/l/_3hDwgMHHHwPR
https://dl.doubtnut.com/l/_jeftsjXpvDRU

B.45°

C.52.5°

D.62.5°

Answer:

° Watch Video Solution

14. In the given figure, O is the centre of a circle
and PT is the tangent to the circle. If PQ is a

chord such that ZQ@QPT =50° then


https://dl.doubtnut.com/l/_jeftsjXpvDRU
https://dl.doubtnut.com/l/_hgvhfipZ43BZ

/POQ = ?

A.100°

B.90°

C.80°

D.75°



https://dl.doubtnut.com/l/_hgvhfipZ43BZ

Answer: A

° Watch Video Solution

15. In the given figure, PA and PB are two

tangetns to the circle with centre O. If


https://dl.doubtnut.com/l/_hgvhfipZ43BZ
https://dl.doubtnut.com/l/_cxMbQ2g41fur

/APB = 60° then ZOAB is

A

//

A. 15°

B.30°

C.60°

D.90°


https://dl.doubtnut.com/l/_cxMbQ2g41fur

Answer:

° Watch Video Solution

16. In the given figure, PQ) and PR are tangents
to a circle with centre A. If ZQPA = 27° then

ZQAR equals

Q



https://dl.doubtnut.com/l/_cxMbQ2g41fur
https://dl.doubtnut.com/l/_B0Bmh1fJPWSF

A.63°

B.117°

C.126°

D. 153°

Answer:

o Watch Video Solution

17. In the given figure, PA and PB are two
tangents drawn from an external point P to a

circle with centre C and radius 4cm. |If


https://dl.doubtnut.com/l/_B0Bmh1fJPWSF
https://dl.doubtnut.com/l/_zMrNStwflmXX

PA 1 PB,then the length of each tangent is

A

A. 3cm
B.4cm

C.bem

D. 6cm


https://dl.doubtnut.com/l/_zMrNStwflmXX

Answer:

° Watch Video Solution

18. If PA and PB are two tangents to a circle
with centre O such that ZAPB = 80°. Then,

LAOP =7



https://dl.doubtnut.com/l/_zMrNStwflmXX
https://dl.doubtnut.com/l/_Xgl3afDu9zne

A.40°

B.50°

C.60°

D.70°

Answer:

0 Watch Video Solution

19. In the given figure, O is the centre of the
circle. AB is the tangent to the circle at the

point P. If ZAP(Q = 58° then the measure of


https://dl.doubtnut.com/l/_Xgl3afDu9zne
https://dl.doubtnut.com/l/_uHsXt3bcgZPX

ZPQBis

A 32°

B. 58°

C.122°

D. 132°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uHsXt3bcgZPX

20. In the given figure, O is the centre of the
circle. AB is the tangent to the circle at the
point P. If /PAO = 30° then

/CPB + ZACP is equal to



https://dl.doubtnut.com/l/_uHsXt3bcgZPX
https://dl.doubtnut.com/l/_LHurKihyNid0

C.120°

D. 150°

Answer:

° Watch Video Solution

21. In the given figure, PQ) is a tangent to a circle

with centre O. A is the point of contact. If


https://dl.doubtnut.com/l/_LHurKihyNid0
https://dl.doubtnut.com/l/_UiOv1nR6gK99

/LZPAB = 67°,then the measure of ZAQB is

B T~
O
C
- —
A 73°
B.64°
C.53°

D. 44°


https://dl.doubtnut.com/l/_UiOv1nR6gK99

Answer:

° Watch Video Solution

22. In the given figure, two circles touch each
other at C' and AB is a tangent to both the

circles. The mesure of ZACB is


https://dl.doubtnut.com/l/_UiOv1nR6gK99
https://dl.doubtnut.com/l/_Zr1O5OulFp7q

A.45°

B.60°

C.90°

D.120°

Answer:

o Watch Video Solution

23. O is the centre of a circle of radius bem. At a
distance of 13cm from O, a point P is taken.

From this point, two tangents P() and PR are


https://dl.doubtnut.com/l/_Zr1O5OulFp7q
https://dl.doubtnut.com/l/_zPrlvl6UnMGV

drawn to the circle. Then, the area of quad.

PQOR is
Q
P
R
A. 60cm
B. 32.5¢cm?
C. 65¢cm?>

D. 30cm


https://dl.doubtnut.com/l/_zPrlvl6UnMGV

Answer:

° Watch Video Solution

24. In the given figure, PQR is a tangent to the
circle at (), whose centre is O and AB is a chord
parallel to PR such that ZBQR = 70°. Then,

/AQB = ?



https://dl.doubtnut.com/l/_zPrlvl6UnMGV
https://dl.doubtnut.com/l/_wyrZx7NnWO47

A.20°

B.35°

C.40°

D. 45°

Answer:

0 Watch Video Solution

25.In the given figure, O is the centre of a circle,
BOA is its diameter and the tangent at the

point P meets BA extended at T. If


https://dl.doubtnut.com/l/_wyrZx7NnWO47
https://dl.doubtnut.com/l/_oktjKFEjDiI7

/PBO = 30° then Z/PTA = ?

A.60°

B.30°

C.15°

D. 45°

Answer: B



https://dl.doubtnut.com/l/_oktjKFEjDiI7

I o Watch Video Solution |

26. In the figure, a circle touches the side DF of
A EDF' at H and touches line ED and EF at
points K and M respectively. If EK =9cm , then

perimeter of A EDF'is



https://dl.doubtnut.com/l/_oktjKFEjDiI7
https://dl.doubtnut.com/l/_k37h0rgGzsw6

A. 9cm

B.12cm

C.13.5em

D. 18cm

Answer:

o Watch Video Solution

27. In the figure, O is the centre of a circle,PQL
and PRM are the tangents at the points Q and R

respectively and Sis a point on the circle such


https://dl.doubtnut.com/l/_k37h0rgGzsw6
https://dl.doubtnut.com/l/_LGiFIXpoOkp8

that ZSQL = 50° and ZSRM = 60°. Then ,

ZQSR is equal to

A.40°

B.50°

C.60°

D.70°


https://dl.doubtnut.com/l/_LGiFIXpoOkp8

Answer:

° Watch Video Solution

28. In the given figure, a triangle PQR is drawn
to circumscribe a circle of radius 6¢m such that
the segments QT and T'R into which QR is
divided by the point of contact 7', are of lengths

12¢m and 9cm respectively. If the area of


https://dl.doubtnut.com/l/_LGiFIXpoOkp8
https://dl.doubtnut.com/l/_6DKKI3QjNhTL

APQR = 189c¢m? then the length of side PQ is
=

A. 17.5em

B. 20cm

C.22.5ecm

D. 25cm


https://dl.doubtnut.com/l/_6DKKI3QjNhTL

Answer:

° Watch Video Solution

29. In the given figure, QR is a common tangent
to the given circles, touching externally at the
point T'. The tangent at 17" meets QR at P. If

PT = 3.8cm then the length of QR is

Q |pR

EA
S


https://dl.doubtnut.com/l/_6DKKI3QjNhTL
https://dl.doubtnut.com/l/_CU3Rnsy659zK

A.1.9cm

B. 3.8¢cm

C.5.7cm

D. 7.6cm

Answer: D

o Watch Video Solution

30. In the given figure, quad. ABCD is
circumscribed, touching the circle at P, Q, R

and S.If AP = 5em,BC = 7em and CS = 3em.


https://dl.doubtnut.com/l/_CU3Rnsy659zK
https://dl.doubtnut.com/l/_BUAwXRcVlV6E

Then, the length AB = 7

D S C
P R
A Q B
A.9cm
B. 10cm
C.12ecm

D. 8&cm


https://dl.doubtnut.com/l/_BUAwXRcVlV6E

Answer:

° Watch Video Solution

31. In the given figure, quadrilateral ABCD is
circumscribed, touching the circle at P, Q, R and

S.If AP=6cm,BP=5cm,CQ =3 cm and DR =4


https://dl.doubtnut.com/l/_BUAwXRcVlV6E
https://dl.doubtnut.com/l/_KP58TZJDrkR0

cm, then perimeter of quadrilateral ABCD is

A. 18cm

B.27cm


https://dl.doubtnut.com/l/_KP58TZJDrkR0

C.36cm

D. 32cm

Answer:

° Watch Video Solution

32.In the given figure, O is the centre of a circle,

AB is a chord and AT is the tangent at A. If


https://dl.doubtnut.com/l/_KP58TZJDrkR0
https://dl.doubtnut.com/l/_sZeVxS7YzuH0

/ZAOB = 100° then Z/BAT is equal to

P~

B

A.40°
B.50°
C.90°

D.100°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sZeVxS7YzuH0

33. In the given figure, a circle is inscribed in a
quadrilateral ABCD touching its sides AB, BC,
CD and AD at P, Q, R and S respectively. If the
radius of the circle is 10em, BC = 38cm,

PB = 27cm and AD 1 CD then the length of


https://dl.doubtnut.com/l/_sZeVxS7YzuH0
https://dl.doubtnut.com/l/_tauykluH1ti5

CDis

A 1llem

B. 15em

C.20cm

D.21ecm


https://dl.doubtnut.com/l/_tauykluH1ti5

Answer:

° Watch Video Solution

34.In the given figure, AABC is right-angled at
B such that BC = 6¢cm and AB = 8cm. A circle

with centre O has been inscribed inside the

triangle. OP 1 AB,OQ | BC and OR 1 AC.


https://dl.doubtnut.com/l/_tauykluH1ti5
https://dl.doubtnut.com/l/_zjJ9xxSC4OxG

If OP = OQ = OR = xecmthenx = 7

A
4
=
o
°° R
p
Y
B Q C
- Qg Ccm——>

A. 2cm


https://dl.doubtnut.com/l/_zjJ9xxSC4OxG

B.2.5cm

C.3ecm

D. 3.5cm

Answer:

° Watch Video Solution

35.1In the given figure, PA and PB are tangents

to the given circle such that PA = 5¢cm and


https://dl.doubtnut.com/l/_zjJ9xxSC4OxG
https://dl.doubtnut.com/l/_qVvY8eqO3KxW

/APB = 60°.The length of chord AB is

A. 5+/2cm
B. bem
C. 54/ 3cm

D. 7.5cm


https://dl.doubtnut.com/l/_qVvY8eqO3KxW

Answer:

° Watch Video Solution

36. In the given figure, DE and DF are tangents
from and external point D to a circle with centre

A.If DE = 5¢m and DE 1 DF then the radius


https://dl.doubtnut.com/l/_qVvY8eqO3KxW
https://dl.doubtnut.com/l/_xfre9JcWCBG2

of the circle is

A. 3cm

B.4cm

C.5em

D. 6cm


https://dl.doubtnut.com/l/_xfre9JcWCBG2

Answer:

° Watch Video Solution

37. In the given figure, three circles with centres
A, B, C respectively touch each other externally.

If AB = bem, BC = 7Tem and CA = 6em then


https://dl.doubtnut.com/l/_xfre9JcWCBG2
https://dl.doubtnut.com/l/_selM5BZ934gd

the radius of the circle with centre A is

A.1.5em

B. 2cm

C.2.5em


https://dl.doubtnut.com/l/_selM5BZ934gd

D. 3cm

Answer:

o Watch Video Solution

38. In the given figure, AP, AQ and BC are

tangents to the circle. If AB = 5cm, AC' = 6ecm


https://dl.doubtnut.com/l/_selM5BZ934gd
https://dl.doubtnut.com/l/_vepNXzWMMYxm

and BC' = 4cm then the length of AP is

A

A. 15em

B. 10cm

C.9cm


https://dl.doubtnut.com/l/_vepNXzWMMYxm

D. 7.5cm

Answer:

0 Watch Video Solution

39. In the given figure, O is the centre of two
concentric circles of radii 5em and 3cm. From an
external point P tangents PA and PB are

drawn to these circles. If PA = 12¢m then PB


https://dl.doubtnut.com/l/_vepNXzWMMYxm
https://dl.doubtnut.com/l/_OYL472an6jYR

is equal to

A.5y/2cm

B. 3,/bcm

C.4,/10cm
D. 5,/10cm


https://dl.doubtnut.com/l/_OYL472an6jYR

Answer:

° Watch Video Solution

Assertion And Reason

1. Assertion (A) In the given figure, a quad.
ABCD is drawn to circumscribe a given circle,

as shown

Then, AB + BC = AD + DC.


https://dl.doubtnut.com/l/_OYL472an6jYR
https://dl.doubtnut.com/l/_IsG19JFJywwx

Assertion (A) Reason (R)
In the given figure, a quad. ABCD is|In two concentric circles, the chors
drawn to circumscribe a given circle, [of the larger circle, which touches
as shown. the smaller circle, is bisected at the
Then, AB +BC = AD + DC point of contact.
D R Cc
s
Q
A P B

Reason (R ) In two concentric circles, the chord
of the larger circle, which touches the smaller

circle, is bisected at the point of contact.

A. Both Assertion (A) and Reason (R ) are true

and Reason (R ) is a correct explanation of

Asseration (A).


https://dl.doubtnut.com/l/_IsG19JFJywwx

B. Both Assertion (A) and Reason (R ) are true

but Reason (R ) is not a correct explanation

of Asseration (A).

C. Assertion(A) is true and Reason (R) is false.

D. Assertion(A) is false and Reason (R) is true.

Answer:

° Watch Video Solution

Test Yourself



https://dl.doubtnut.com/l/_IsG19JFJywwx
https://dl.doubtnut.com/l/_MeAC3DinERwK

1.In the given figure ,'O is the centre of circle ,PQ
is a chord and the tangent PR at P makes an

angle of 50° with PQ jthen ZPOQ is equal to :

B.100°

C.90°


https://dl.doubtnut.com/l/_MeAC3DinERwK

D.75°

Answer: B

o Watch Video Solution

2. If the angle between two radii of a circle is
130° then the angle between the tangents at
the ends of the radii is

A.65°

B.40°


https://dl.doubtnut.com/l/_MeAC3DinERwK
https://dl.doubtnut.com/l/_4nQGByeQpCAi

C.50°

D.90°

Answer: C

o Watch Video Solution

3. If tangents PA and PB from a point P to

circle with centre O drawn so that


https://dl.doubtnut.com/l/_4nQGByeQpCAi
https://dl.doubtnut.com/l/_86xh3PyGOifF

/APB = 80° then ZPOA = ?



https://dl.doubtnut.com/l/_86xh3PyGOifF

Answer:

° Watch Video Solution

4. In the given figure, AD and AFE are the
tangents to a circle with centre O and BC

touches the circle at F. If AE = 5em then


https://dl.doubtnut.com/l/_86xh3PyGOifF
https://dl.doubtnut.com/l/_eU8aqTEc5K1F

perimeter of AABC'is

A
B —
A. 15em
B. 10cm
C.22.5ecm

D. 20cm


https://dl.doubtnut.com/l/_eU8aqTEc5K1F

Answer:

° Watch Video Solution

5. In the given figure, a quadrilateral ABCD is

drawn to circumscribe a circle such that its sides

AB, BC, CD and AD touch the circle at

P,Q,R and S respectively. If AB = xzcm,


https://dl.doubtnut.com/l/_eU8aqTEc5K1F
https://dl.doubtnut.com/l/_BoYff89LNsAC

BC = T7em,CR = 3cm and AS = 5em, find z.

D R C

o Watch Video Solution

6. In the given figure, PA and PB are the

tangents to a circle with centre O. Show that the


https://dl.doubtnut.com/l/_BoYff89LNsAC
https://dl.doubtnut.com/l/_tqPzisxcR5Z8

points A, O, B, P are concyclic.

° Watch Video Solution

7. In the given figure, PA and PB are two
tangents from an external point P to a circle

with centre O.If /PBA = 65°,find ZOAB and


https://dl.doubtnut.com/l/_tqPzisxcR5Z8
https://dl.doubtnut.com/l/_dWIB4X5zjcqg

/APB.

A

<&

B

o Watch Video Solution

8. Two tangent segments BC and BDare drawn

to a vcircle with centre O such that


https://dl.doubtnut.com/l/_dWIB4X5zjcqg
https://dl.doubtnut.com/l/_dtHLlVO5MEA0

/CBD = 120°. Prove that OB = 2BC.

o
N~
/<

o Watch Video Solution

9. Fill in the blanks

() A line intersecting a circle in two distinct


https://dl.doubtnut.com/l/_dtHLlVO5MEA0
https://dl.doubtnut.com/l/_0Id1u9RyjlhT

points is caled a....

(42) A circle can have.. parallel tangents at the
most.

(441) The common point of a tangent to a circle
and the circle is called the....

(iv) A circle can have... tangents.

° Watch Video Solution

10. Prove that the length of the tangents drawn

from an external point to a circle are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_0Id1u9RyjlhT
https://dl.doubtnut.com/l/_sHUYhRTEgmuZ

11. Prove that the tangents drawn at the ends of

the diameter of a circle are parallel.

° Watch Video Solution

12. In the given figure, if AB = AC, prove that

BE = CE.


https://dl.doubtnut.com/l/_sHUYhRTEgmuZ
https://dl.doubtnut.com/l/_NET5QVvg9g62
https://dl.doubtnut.com/l/_DkSGxBWIiKqr

° Watch Video Solution



https://dl.doubtnut.com/l/_DkSGxBWIiKqr

13. Theorem:If two tangents are drawn to a circle
from an external point ; then (i) they subtend
equal angles at the centre. (ii) they are equally
inclined to the line segments ; joining the centre

to that point.

° Watch Video Solution

14. Prove that the tangents drawn at the end
points of a chord of a circle make equal angles

with the chord.

| & I


https://dl.doubtnut.com/l/_tbJKI9d25h8b
https://dl.doubtnut.com/l/_fb5RfFtpXk1A

| ¥ Watch Video Solution ]

15. Rig Hifaiv b fooedt g o R FHIAR Iqyst
THAYST BT ¢ |

° Watch Video Solution

16. Two concentric circles are of radii 5em and
3cm respectively. Find the length of the chord of

the larger circle which touches the smaller circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_fb5RfFtpXk1A
https://dl.doubtnut.com/l/_eqF9DCu2UpDN
https://dl.doubtnut.com/l/_dntMZVYzEvAg

17. U gd & 9RATd Ueb I ABCD &ier 7111 & g
CAIE1Y
AB+ CD = AD + BC

&2

o Watch Video Solution

18. Prove that opposite sides of a quadrilateral
circumscribing a circle subtend supplementary

angles at the centre of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_1AYvOHfi0zHJ
https://dl.doubtnut.com/l/_SzUTp7v6Jl6g

19. Prove that the angle between the two
tangents drawn from an external point to a
circle is supplementary to the angle subtended
by the line segments joining the points of

contact at the centre.

° Watch Video Solution

20. PQ) is a chord of length 16cm of a circle of
radius 10cm. The tangents at P and () intersect

at a point T' as shown in the figure. Find the


https://dl.doubtnut.com/l/_SzUTp7v6Jl6g
https://dl.doubtnut.com/l/_tgzvbULzTo57
https://dl.doubtnut.com/l/_t7bcrfZ9yEGR

length of T'P.

\

o Watch Video Solution



https://dl.doubtnut.com/l/_t7bcrfZ9yEGR

